@ 3x<9 © x-323

© -2x+3>-3 ® -2x>6

® 9,0 )0, ® ® 0,
@ 9,006 ® 0,6,

Ox>6




b F P54 a7k A Wk b Shbs?

1
O 3x-1<14 @ -x+2>-3 ®5x—3<—2
@—x+7<2 ® 4x<15+x
@ x>5

oA RE x <5 o]k,




ANHEA 4 <oy 42<62ZH?

D x>-3 @ x<2 @—33x<2

@ -2<x<3 ® 2<x<3

B

—4<2x+2<6

Z A 2 5 WH —4-2<2x<6-2
-6<2x<4

ZHEZ2EUYFH -3<x<2




4.

X 7]' X]'CHZ[\‘%'_] uﬂ, E]-

e
® 2x-1>3 @)2x+1<3
@ 9-3x>0

@2x<2 x<1

x 7} AAgol B2 F7} At




KoX
25

e 24 9le

—x+1<2x-5 9]

—x+1<2x-5

6 < 3x

2<x




T.x+12>0
L.2x+3<1
C.x—-52>6
2. 2(x+1)>0
0, 3x-4<2

©) 1SR il

@ v, c,=




e P2

L A%e]

Ho 7om

@ 4 ® 5 @)6 ®7

@ 3

B

—3(x+2)-1>2(x-12)-3
—3x-6-1>2x-24-3
—3x—2x>-24-3+4+6+1

—5x > —20

AA+E 1, 2, 3 ol

1:_-
-

5

=
S AAE F =1+2+3=6




2x—-1 5x-3

3 4

> 1 & WSsh= x 9 & FolA 7MY 2 A54=?

@ 2 @ 1 ® 0 @ -1 @—2

2x—1_5x—3
3 4
12, —=7x>7 .. x<-1

>1, 4(2x-1)-3(bx-3)>12, —-T7x+5>




a<-394 M, 2 - (a+3)x<-6 2 3|E FsHH?

@ x<0 @ x<1 @x<2 @ x>1

B

® x>2

2a— (a+3)x < —6
—(a+3)x<—-2a-6
(a+3)x>2a+6
“x<2 (0 a+3<0)




=

Xl
o 1

7oz

il

g A7

o
el

=]
T

oo

Da>09 ", ax>2a = x>2
@ a>02 W, ax>-4a = x>-4
@a<0°a]‘lﬂ,ax>—4a = x<4

@ a>09 M, —ax>5z = x<-5

® a<0Q U, —ax>5a = x>-5

@ a<09°B2 ax>—4a o] FHE ¢ 2
Ho7 o2 x < —4 o]t}

L
T

o]

=
N

H

1=}
T

=
[e)

el

_g]




@1 3)0 @ -1

@ 2

2x—4-3x+3<0
-x—-1<0




12. x| TS ESA x-12>0 9 A7t x>4 L o, A g 9 oz
2 A7
D1 @ 2 @3 @ 4 ® 5

ax—12 > 0 = 7+4s] 51 ax > 12 o]t}

i)a>0°]‘?’1x>1a—2015§x>47]-ﬂ7] AL 4 = 3 0]
w|ojof g},

i) a<00]d x< 2 o]BZ 4 7} ol 2L ZejBhE x> 4
a
7} = 4 g,

w4 o = 3 olet,




13.

2 _ _
3)61— _x<_g_|_19,] N7t 3x+1 < 2x+ a2 A} S 0, a9

@H?

2 _
T2 <19 opuel 48 By

3x+2—-4x < -2x+4, x <2011,
3x+1<2x+as A5 x <a-10°]|t}.
a—1=2

ca=3




14.

254 2ED 5 o P23 o) ool -2 Fate] Helet
2(2x 4 5) = 6a — 3(2x — 3) °f| A
4x 4+ 10 > 6a—6x+ 9, 10x > 6a — 1
N 6a -1
10
s T 7HE A2 70 o]l BR
6a — 1
10
6a =1

=0

1

La=




15.

BHE Sk 9% 19 A57t 44 D o, 45

@ 2 @ 3 ©) Z! @ 5 ® 6

—2x>-x—-a5 JHStH 2x<x+a, x<a
thEotk= HY He] A1, 2, 3, 4Bojojofst B2 4 <a < b

o] Ejojof g},




16.

3—-k x+2 2
1= =)} B < ——
T o 9 + 6 - 3
kO] 727
O 3 @ 4 ® 5

2 nxst= 2pd2 x 7} 3 D ),

®7

%

A
T

3__k_|_x+2 < Z
2 6

9-3k+x+2<-4
x<-15+4 3k

47} =|ofof 2ttt
18 < 3k < 19

19
6 < =
a<3

webA] g4 ko] 3L 6ol

-3 o] FHof| 62 HStH

9] HEX.S mzsle 21o]4=0] 7|47} 3 /0|22 3 < 3k—15 <




24918 BAA e
AR} Zcka gt o]

qr o

S8 2 WisHE 1 0] 5o 32 HF
S R D

@3 @ 47H ® 571 @ 67N ® 17

2x>x+3, x>3 0|8 WESE =4, 5, 6 o[t}




18. xt3HgaT 7R AN yE=2HT 76 Bt 22 5 o, x
o] 3 Hfo y & dgt 42 HYE ¢ Bt 23 pH} Zrhl gt o]
o, b—a 9] 327

O 13 @ 14 ® 15 @16 ® 17

B ~

x7F3EG AN 7 HGAOBRZ 3 x<7---O
yE2RG AV 6RGHOEZ 2<y<6---O

x 9 38l y & H3t 9 H9l=3x+yolBE
9<3x<2192<y<6=H5HH 11 < 3x+y < 27 °|t}.
webA b —a =27 - 11 = 16 ©|t}.




19. of®| Ao 48 15

=
=
B FolH 7V AE S

1

D 10 @ 12 @15

151 4~ 72 B} Ahal S

@ 16

B

of® B4 1 x
4x + 15> 72
4x>T72-15
4x > b7

L
’ 4




F 7Rl 4500 ¥ 1 AFALe] 3F 7Rl 700 Q1 AP QF ZHell 1300 Y
1 2E3 10705 ool et A F9o] 30000 ¢ °lsH7t =
st At F o) 2 7l 71A] 4 5= Q1] S ?

@ 1570 @ 16 7} @177]1 @ 187) ® 197}

Apere] A2 1A 2t oA,
700x + (1300 x 10) + 4500 < 30000
700x < 12500
125
< —
7
kA, AFe A 1771744 4 4 9l

X




21. =hAHFe] 200 9 Sh= AW 9 AR 300 © oh= AES F5he] 20
ZA2E 4500 Yo] A LA AF AL gkt 300 Y] AH-S g
H AE272] 5 Q=7

4 @sM @6AH @7 ©sA

B

300 ¥ AZY A4 x
200(20 — x) + 300x < 4500
4000 — 200x + 300x < 4500
—200x + 300x < 4500 — 4000
100x < 500

T x<5H




22.

ol FHlE 85A4= w450 7H7F &Rl 50 ZHE H71H 1 7HE 10
9] @ Fo] Byt ExeF0] 1500 ¥ 9A o B4
o E 77k Bl 4= Qle=A] FobH?

M)200 71 @ 2507 3 30074

@ 35071 ® 40074




23.

ol wrE=to] thA] K| AMH|AE o] &5t gt g Eol 5000
AL Y 5 /e Z2IOHE thA] & 5 A, 6 IEHE 1 G
500 Yol 71 @ &S Yof gt AA] 2F9] 13000 ¢ ol5H7F = A
steH 2 IS 2o H 7i7HR] oA & 5 Q1R FESHHE?

® 1A @204 @A @ 2F  © 34

~&B ~

A B Z2I30) £2 x et s
5000 + 500(x — 5) < 13000

x <21

webA Hoj 21 A7 2 4 9Lk,




AF3]19] ol Fel2 AAY 20000 Yol a1, 352 ofFH-2 A 30000
o] Qittal giet. AFS)= w3000 YA ol F5aL, 515 1l 2000
A 253

bk o), 451 e Fejo] 3le] el golA

@u s

o

Jo

AF3] 1 20000 + 3000x,

3]3 1 30000 + 2000x

20000 + 3000x > 30000 + 2000x
1000x > 10000

x> 10

webA 115 F o,




25. 3|Flol= @A) 60000 Y, A&-°]= 10000 Yol olF = o] et &
o= g 3000 YA, A]go]= 2000 YA ol Fetetal gt} 3]R10]
o FeHo] z]-g-o]9] o FH 9] 3 v HT} o= A2 H 7 EHFEQIX

Tafolat

® 9AY @ 10744 Gy
@ 1278 ® 13744

S \
3]zlo]= 3000 94 dlEstEE x 7HE Foll= 3000x Hol 57}
Fip=

5]70]9] x 7 & ofFH2 60000 + 3000x (H)

Aol 2000 G4 FotRE 2 x 7] Sofli= 2000x Ho] F7}
gt

2019 x i & ofl 582 10000 + 2000x ()

60000 + 3000x < 3(10000 + 2000x)

3000x — 6000x < 30000 — 60000

— 3000x < —30000

x> 10

o2hA 11 7iY $RE 331 0] 9] dlgHo] 2]qo]9] dFHe] 3
vl o} A o] 2},




